RSN

Cioll e o - L

LN
§$?@WWQ‘
=% ®105# &
Hix: 3rd %t A
wER |, ~ER rER o
W o2y > N : 2 =~ w %
wpg [FHTEEATENAPT | L L A e
233279 (fa 6> W3 &£ i) % %| 34809 | 235509 A3 E iR BHR &RAEY 2
53 PRLH FF HEBr 2 ALY
2 A PREE B ER E TR 5 7 34,809
+ = ;_ﬁ_ A 75-&(7 :
31,197 Rix % * 30599 | 32735 |- . & ¢ 77,087+ % > & §
57| gy 100 100 |1 74 L MG A RBET E P * 100
2y 2 EMAA e g A
57 TR 100 100 % 20604 A
5469 | ErpEiTe R A % 4,311 4310 |2. & @@ fF & yE7 1,000+
7‘L4 ~ —‘T‘ 7[4 o
394 B R R 3T R 614 527 & 51300
- - |30 R L pEIEopd g A B g % 200F
1649 | R ()% % ic 5 7
3,426 ¥irz £7 3,697 3783 4. ¢ A RELA 6 F A F 3124
23,615 | - 4xRFH} 23,774 | 25,520 -
5. AHFHELAELER IR T2
Mg~y o~ gIE FEBFAA £/ DA F66F
3 ’E’ % :f-..%@'}é’j - - Ao
6. 4REREL R HEFTHY
'\, 19 (3 2,
15,089 ~IZ (79 % 14,421 | 16,170 4192494 & -
7,000 he g 7,806 7,803 |1+ P @ FRIRPRELY o RE AR
RS A k@af#3m4me
1,523 | Pl B@ig 1,547 1,547 *iE #
. . 8. d’El’i&FFj T_I_E A FEIR rﬁ]’&g Fi«m—r
2,056 | % ERir} 2,414 2,805 2 141,500+ = -
1,311 ERE N 1,710 2012 |- |\ gap5 k(57765 2 > 2 5
{g_?ﬁcﬁ%‘%ﬁ%ﬂ" = el -
745 :;@ 552 847 704 793 |1 @y #3-41,833F ~ ¢
458 [H#Lz * 5% 168 150 |(1) yi) iRitire # ¢ 5 % 500+ ~ o
458 | * Zif e 168 150 |(2) tresmpd v ey 4l ivdh
243 e (E52) * & ] ] %z Rl %% 1,250+ = .
132 gﬁ-ﬁ-""wu - - (3) {L)\ 1"15}4—)’—?‘22%‘5@3 ;%&834
83 & 5 168 150 2+ PHEFEREFTET LAY £
BERAEEETLE % T L
54 |f#dF 2 7 (%417 ) 195 195 @ e % B41F A o

-24 -



PBEAEELE ¢
LRI RER AL
RETEP i
v F0bE R

wE R |y # R +ER "
Wy 2 A 3L 2L 4 o 3
¥ g EE A T R e | G S Y
54| 4% 195 105 (3. p4m T X s i d 4L 5 2
XEARE FEMFTHERRF
54 ARy Bndly 195 195 2 gh v E2 % % 3,002+ & o
200,825 € % ~ 4724 ~ A EL S A 3,103 | 201,668 [4. prmgaiF % ik iR S MY
P~ KBELRER R 100 =~ o
= BB %8205+ A & %
200,000 | 3 eb i s g ps 1,500 | 200,000 (1. #3303k F A LK T 2 H &
200,000 | 47 et 4tz WA 1,500 | 200,000 A 5 % 900+ A o
825 z‘fa“ ?Ja(i%’) ﬁ’:)]ﬁv & 1,603 1,668 |2. p#m@ o 2 P AR EBEE s P
’E"E’]LI/H (a}—%) ,"gf%” L#E_Eﬁ?;}i%&‘g %3
825 ﬁ%/]ﬁa % 1,603 1,668 B * 4,800+ =~ o
387 |y~ ez L RY 744 851 (3. 4 E X FH L FHi2 e kb
B g 257650+ & o
387 % 38 52 i 744 85114 #HEXTFH P FETEREBLARN
387 |  BIEZ m@El 744 gsy | FIFFREFL00F A
358 -',E—!” - _ |5 FEE —Jﬁf‘?mﬂ 7%;1¥${ﬁ£
%%ﬁﬂg%ﬁ’%wP?&4§
358 | Hw - - %335+ = .
38| #w : |8 gieAAAR g HEF 4y 288
7. fjﬁ;% T E AR B K R
FE A CMATRELRIEF A
8. RW%%&Wﬁépd’mr$W
EFERLAAEXLANRELR
i ;?.; ﬁ%)]ﬁuﬂﬂh R PE
&91% % % 303+ & .
9. R xd4E 2 TR K| KR 2 T
B £ 744+ 2 o
T~ R B %1177 A 0§ §
1. ﬁﬂf@i%m%ﬁ%&épﬂ\
2wz ey %5y 3500+
2. ﬁﬂéﬁﬁ?ﬁﬁi#%ﬁ%ﬁf
Fiemrger BRFEAFE
1,991+ =~ -
(1) 74 = %734 § 5 3 165+ ~ o

-25.-




TAFmLR ¢

bRTRETAS

A ETRP i
v F0bE R

P R

44

£ R
g S

l—=

#

¥y

[

i
¥ e

¥
() pe& Focbil §of Rk I BF
$ 5 3 100+ = -
Q) Wrgmppg s~ &7 L E
2 R KA TN B 4 B 4 M
W22 5P §826F & o

4) tFeR SFEEEI R 2 AM T
5 $:900+ =~ o
3 MEEeRsEFLFAFE K
G ERRFE2 AL BT
Ffs 3 % 700+ &
4-7%ﬂf¢;@~/ﬁﬁég&a£;2aw&
2t 2P MU SURIETE B M
Fikid  pHERFL - RHxE %
REREREHTEE LT FH LN
4 % % 3476+ & -
Wt B AL PRI R R
Bz ARKT R eTr 2R
f RIS SR B 3 T 480+ &

T

~

o

i
o
I
T+
W
T
e
- \

9% * 1610+

o
O

\I
=

7% 2R3 20

° B
™
i&
(3
_.3
b
i
o

N

o+ O
WO g

s/

Lol

%1845~ & 5
ERbaTFFRErE L
H o 4R e % % 260+

?P\W?‘k%%

N
m SR e

AR AR
;P644mo

IR SRl o DR )
A& & GIAp Bt AT R ST 343

ﬁ H‘ I%

o

EN

T AR A IRARR L RN IE T E
* 100+ = o
S, f’ﬁ"’ $ﬁﬁ+f§1‘#+ﬁ i A R

e

- 26 -




E i e WL | ¢
ol A A - L
z%é?. * AP Ak
=3 W105# &
L L e
BER (Lo o rEp | rag . . s
g [PHTEATEHNPT e | i A
14,358 |42 #+ 4 41 & ~ #rfh| 15670 | 16,020 [# 3 % 55 it 27 i - dudi g
ﬁﬁﬁrﬁﬂ—"\lﬂi}“;ﬁ ’T'?/é%3~lj%gfm"iﬁfr7f§4?ﬁﬁﬁr‘%’
B3 R ERPHERL S RERTL AR
¥ JRIAE B ERB T ST 15,6704 S
14,195 |pRis% * 15,343 | 15,695 |H p % 4o
1796 | R K ER LR 2,438 2458 |-« k& #7120+ 2 5 & §
. 1 ﬂéﬁ%%‘iéﬁla%w@
1,097 | Epz i 1,192 1,292 %1005 = -
699 | FHEHF 1,246 | 1166 |5 ppyisew 220+ A o
8472 | - PR3 8,667 8739 |- « 47 B % 7|1,066F = » & 5 :
. (LI Bk . ) L ARERPRE TR REE £
pEEAR EXEBA  HL 2 ENF Y
8,471 ~I () % 8,667 8,739 # 1,006+ ~ -
2. HHEECERAAEHR KRB
3,927 | & ¥ IRir3 4,238 4,498 B0 % 60+ & o
3,927 | dsmEb - AT - 4,238 4,498 ‘ L
%g;§£§%? = BB KF|1E75F 20 ¢ § o
S 8% a9 p
163 |[HiLz * 5% 327 325 (1 4at i3 (37) TidEREFER
163 w&ﬁﬁ 327 325 %@%fﬁﬁﬁi#”*?%ﬁ*wg
. RTFLEFETRNAG M
13 § 5 90 108 # %1416+ ~
2. FHHICFT NI AR R
LEFID () 2 BEREST S
FuEie >z B rOAF R %3
HHEE P E110+F % mELY

BEOH ¥ 73K 6 32140+ A o

e B 312,809+ A 5 & 5

1 9@ T A~ # 4 B2 &

?!FF!E&E'@WJ kA /‘éf"%"
# 1,200+ < o

2. @%iﬁ*”@§%%§£ﬁa%
%5 %6526+ < o

3. WHEFEAFALFE B iRG

=

FEdFatpM2Rs LT FER
2% 4% NA T E3IBRF A

-27-




L L EN N

Cioll e o - L

LN
§$?@W1@‘
=% ®105# &
H i~ ‘?ﬁ'%\_ L S
EL 4/5 }i . ﬁi .l' "/E }i s
Wozy B : R -
IR S R S R ST ;4 S8 S A
4 AR EIGERGLENEFOTRE
i RRBST4LF R o
5, ®HErsE APl T2 2 ril g
2L f % 5% 320+ & o
21,096 #&ﬁéé&_ﬁﬁﬁ‘ oo B3| 22571 | 23,062 |#rE s FH A A g ER]
3 BERE FFERE RN ﬁA#
A BT RSP R TE ST 22571
16,299 |pRix % * 17,791 | 18282 |+ =\ 4 p 5 4o :
27| #8% % 120 240 |- ~ %.g%&;|12164:a A
sz 1. z;!}$“](ﬁ§1,: f'-‘}{ik?l‘gg—: V'—"F/._
27 T 120 240 lr;auzzwwsswm
167 | ERIETER LT 208 208 | TEEEVEFBIOREED L <4
I RAHEPRANEDLIFEL
70 B 2 3T ¥ 88 88 el % * 592+ A o
97 | %z E7 120 1m3-iﬂﬁﬂ%¢% TR &Y
B FHE mF A ?nggﬂ a1
15519 | - 4xpRir 15,632 | 16,003 BLE RN R 200 A pEm
11,095 3 (55) B 10,764 | 10,935 B R 40+ ~ o
4,424 be % 4,868 5068 |- « B 521,355+ & > & 5 ¢
586 | & ¥R 1,831 183L|L A 2BH 2P ML LD
2,950+ = o
53 ;&;%céz%.%é« . ﬁv%"’; 190 190 |2 TR EFFRE L E R 13504
:h| }ﬁ ﬁ ﬁ % ﬁ;ﬁ’ R L o
533 | Hw 1,641 1,641 |3. 74 * B ¢ 3+ # | (IFRSs) & %
67 [HHLz * 5% 50 50 E et T m #8225+ A s PP
67 | % i 4s 50 50 [(1) 3 4} 4% =IFRSs% X 5 % 1,116
4 ;b o
22| drg ik - - (@) Eimep R 9§ 525+ & o
. @B ME g HER? 2 RhFLTLER
18 5 5 30 30 &4644_£J0
27 H 20 20 |(4) 285 & ¥ % ~ IFRSs. 120+ & o
4730 [§ % ~ 4786 ~ A E4 A HE 4,730 4730 |4, - a2 R 2 R
B~ KA UNER & %4730+ & o
4,730 F B~ AF s g s 4,730 4,730 |5. = PEZ LS P2 B o2 B
P JRE R AN E R IR
4730 | 4FEgRE WA 4730 4730 o ¥ ek g % 3,800+ % e

-28-




TkEmLE ¢

bRTRETAS

AREF P i
¢ ELF105E &

B grd R4 A
Bv‘ﬁ}i . ﬁi .}E}i
W ory ; R 21l 4 e
IR S P ERAE T NPT ST ;4 S A
6. MEAEH 2P MFY L
Ao TR E ERLE 2 e A4 T
# 300+ ~ -
7,189 |32 & F %= & 2 9,559 9,205 [*3+ % % %2 R'Z & g e & PR R
4 ERRT @ cHSREEREKE &N
BRI BN iE BT e
1,754 |pris 2 = 2,195 2208 |* F A4 MR BRI ATE G H 95509+ ~
I} P\ ! ! H oo - -
» BN Ao L
- EF%IJ%;T?E)%%? 348 348 _ ‘j‘g“/gn;"GO\?)Z’;;“’ég .
- L ﬁ" W’”F‘ﬁ’ﬁ ’“h”’f&]‘ ﬁ’ﬁ
980 | - apRir 980 980 iR MBS %3 i 7 650
980 KT (79 % 980 980 (2. #rFch F kiR K AL E 5§ 920
—i ;LJ o
74| L EmRET 867 880
S WL NG S B 3. LBEmALmEsES4114F o
ﬂzﬁa%ﬁi Z:A7
- [HEE R 20 20 |- v mFERBILTF A 2§
S I S [ 42 20 o0 |1 FIBWTOZ iE P it » 4317 4p B
ELEF R L MRS ‘?2024
- CReA 20 20 A o
5435 [€ % ~ 4785 < s~ A fE - 7,344 6977 2. + ¥ k& #FFHI5+ A .
5 R RN S R ARG F 1000+ &
3,786 | ¢ % atlal 41220- ey p w375+ 2 ¢
3786 | RpEsg T 4114 | 4122 (L PEERS RESH R E R M e
BT L EUNER 4 F 53 270
1,649 | #FZ 2iniad} 3230 | 285 | t=x.
2. LHENPSILA L RE TLASH 4
> 7:— £ & &
1,649 A= | F 3,230 2,855 \i_iﬁ:_ féﬁﬂ”#%"}f‘_%” 1054 =
7~ f/‘Ké‘?%J &3]11,935—7‘ L g /1?'\ .
L o #mGig¥h sy AT HEAH
§ #TF 5% 980+ & o
2. ﬁ:zﬂ’zomﬂ b L BYRT W R T
T %4 (AFIR) ¢ %955+ = o

-29.-




R R ok B
bR EEmAL
z%é?. * AP 4
= FI105# &
B g R A
WER |, oL &g | ran 5
W oIx 2 Y S 2L 3+ W ® bl
/j“—;E-;Q'JZ #:‘ﬂg‘p %3‘3"*‘;—)]% 12 ’?E?—rﬁi 3?-?4@: ® & J Y F"-'FI
14,734,652 | & me & ﬁ‘{" ¥ 39 - g T | 25,937,289 | 24464506 | At F A R £ ﬁ,ﬁ“%;‘gi%)%@,:_ﬁ&4f§ |
4 PRI L L RS ASLE A A T
14734652 g1y « B2 0 46 ¢ 2 £ 19| 25,937,280 | 24464506 [ £ LI o WA NE LG 0 AL
B4 oD AgPBii L EmERENEY £ 0 0F
N P ATH AL A I HE T2 MR
14,734,652 LI FL A 25,937,289 | 24,464,596 | , |, R % ;ﬁ WX s ﬁﬁ—r" 5;_7?_&
Lo ~E 11%1034%6’* 4p i >F 2
LRI L D ,937, ,464,
14,734,652 L RS 25,937,289 | 24,464,596 b AR Fde B ? __%%R‘/z £ 1168 2
Gk EAPBM AR T 0 A - YRR ri’»,si
AREE L EREL IS RILR D]
S| ATEEH S F 25973,728F9F ~ o
151,957 |- 4 {7 ,}’;crg 3 3t 164,599 | 164,038 |~ % 5 7¥2 A £ £i975 A T A0 B
T K3 %70164,599F ~ 0 H ) K e
-
151,832 |* x % » 164,467 | 163,906 |- ~ & ¢ % 7|23778+ ~ » ¢ 7 :
52,366 | Mo x A AR T 57,591 | 56,031 |1 #FEF L R14X 0 R BB AT A
P pE B G634 0 £ 3 KT
52,366 B AR A 57,591 56,931 * A% % 23750F A (7 HFuiEpb
1,406 AZPFL (TR 1,449 1,449 7,788 + ~ ~ i¥ P}‘x@ﬁ_ﬁ’—ku £ 715+
Ao AgRE TR 344+ A v RO 4k
82,253 | Zpt 86,904 87,264 o~ RBESRESAT B 224+ ) o
82,253 Hiis2pk 86,904 87264 |2. R~ EiF# 728+~ o
6,040 [ f2 4 7,199 L1M7 |- ;a7 B 57028918+ = » & § ¢
6,040 | E¥pEi 7,199 7117 |1 #&E* A R124 0 2 BRI AR
L g ek e ul A ph B ARt 167 4 0 R
2530 | Rikzerig & 3,015 2,988 4w 28804+ A (3 #m |2 L
2,530 BRRIR2 R 3,015 2,988 14 976+ ~ ~ T IR B Y £513+
pi?écfra"fzgo—ﬁ o~ 51 ﬁ/(-én
6,407 AR LG 7,253 7,109 o~ KBRS B4 102F ) o
830 B AEfF 1,056 1,048 |2. = B igdF 24+ ~ o
125 pRis % * 132 132 (= ~#H A fw"138 525+ =~ » # 7
125 | - & PRAE 7 132 132 |1. a@:a%w ARI8A > U E R I AR
B u 2 pE R AET1894 0 £ 3
125 LI i 132 132 * A % % 38489+ & (% #;‘w i+ Bk

-30 -




IS ol A
bRTRETAS
AEF R i
PR FI06E B

l—=

| P
151 L ‘:\J‘ r}’_ ~ ﬂ‘ =
wpge |FUTERATEYAE £ FoE

£ R
LS

44
&y

17,184+ < ~ i3 (R AL BN 4% 4 834+
Ao AgE4eriE 3024 2 s B3 fth
FiRZE 2R EEREFATEALT97F
Ao~ RBFRYEAT E4288F ) o
2. = )%jégﬁ?}:36—i oo

T~ Y R $05123,466F ~ 0 2§
1. #E-*% A B144 > M E RPTF AR
kS PE U e CRIE S K
oA 23438+ 1 (7 AR
7,392+ 2~ i3 K3 BRE & 593 F
TN ﬁg&;cfr#%g_i Av B3 %
FOEE >RGP AT 41,450
Aoy KBRS E4224F ) o
2. 2 RBE#FFT28F = o

I~k hH¥49912+F ~ > & 5
1. #E-% X B8R » U Z R TF B
FUPERER FRH 2314 0 R
AR 49896+ (7 W AR
39,564+ ~ ~ 19 k4L B Y £ 360 +F
EVEN ;L&p_fﬁ;r%%_i ER e A
FOEE >RGP AT 41,483
Ao R EAT BS128F 1) o
2. 2 BiEte B 16+ & o

15,162,532 | &, 3+ 26,184,497 (24,912,520

-31-



